Genetics Problems

Bio10
1a. Mendel crossed a purple-flower (WW) pea variety with a white-flower (ww) variety. Show the results of his experimental F1 generation.
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1b.When Mendel self-pollinated the F1 generation above, show the phenotype of the F2 generation.
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1c. The phenotype of the F2 generation was:

Purple ____________________  to  White ____________________
1d. The Genotype of the F2 generation was:

Homozygous Dominant _______, Heterozygous _________, Homozygous Recessive _________
2.  In humans, five fingers (F) is the dominant trait; six fingers (f) is the recessive trait.  Both parents are heterozygous for five fingers. 

a. What is the phenotype of the father and the mother? ___________

b. What is the genotype of each parent? _________

c. What is the probability of them having 6 fingered child? __________

d. What is the probability of them having a 5 fingered child? ___________
3.  If the father is heterozygous for five fingers and the mother has six fingers, what is the probability of having these characteristics in these offspring?

a. What is the genotype of father? ___________ mother? _________

b. What is the probability of the genotypes in their children?

           FF ___________ Ff _____________ ff ______________

4.  Having attached earlobes is recessive (e), while having free earlobes is dominant (E).  A woman with attached earlobes has children with a man who is homozygous dominant for free earlobes.  What are the probabilities their children’s phenotypes and genotypes? 

a. Phenotype      Free ____________ Attached ______________

b. Genotype        FF ___________ Ff _____________ ff ______________

c.  A child has attached earlobes.  What are the possible genotypes of her parents?

d.  A child has free earlobes.  What are the possible genotypes of her parents?

